
Year 2 Homework Answer 

Module 5: Introduction to division 

 

1.  

√  

√  

 

 

2. 

 a. There are 15 candies in total. 5 candies are in each group. 

 b. There are 12 watches in total. 3 watches are in each group. 

 

3. 

 Second one. 

 

4. 

 a) move 1 airplane from the right group to the left 

 b) move 1 cat from the right group to the left 

 c) move 1 glove from the middle group to the left; and remove 1 glove in the middle group. 

 (Answer may vary) 

 

5. 

+ ÷ × × 

÷ － ÷ － 

 

 

6. 

2 16 6 7 

5 6 1 5 

2 4 5 2 

 

 

 

 



7. 

÷ － ＋ × 

÷ － × ×/÷ 

 

 

8. 

5 15 5 

5 3 3 

4 6 18 

 

 

9. 

2 6 8 6 

6 9 6 8 

 

 

10. 

 a. 8 ÷ 4 = 2 

 b. 12 ÷ 6 = 2 

 c. 9 ÷ 3 = 3 

 

11. 

 a. 5; 5 

 b. 5; 5 

 c. 2; 2 

 d. 5; 5 

 

12. 

4 6 2 

6 4 5 

 

 

 



13. 

1 8 8 

4 7 7 

 

 

14. 

3 4 5 2 6 7 

 

 

15. 

45 8 8 7 

49 6 48 32 

81 6 6 16 

 

16. 

6 4 2 

1 2 4 

5 2 4 

 

17. 

÷;÷ ÷;－ －;÷ 

－;× ＋;× －;× 

+;× ÷;× ÷;÷ 

 

18. 

÷ + × － 

÷ － × ÷ 

 

19. 

7 9 40 8 9 9 

 

 

 

 



20. 

 a. 15 ÷ 3 = 5 sticks/group 

 b. 15 ÷ 5 = 3 sticks/group 

 

21. 

 a. 6 ÷ 3 = 2 balloons/group 

 b. 6 ÷ 2 = 3 balloons/group 

 

22. 

 16 ÷ 2 = 8 pairs 

 

23.  

 25 ÷ 5 = 5 

 

24.  

 18 ÷ 3 = 6 lollipops/box 

 

25.  

 10 ÷ 2 = 5 carrots/rabbit 

 

26.  

 12 ÷ 4 = 3 cakes/person 

 

27. 

 24 ÷ 4 = 6 metres 

 

28.  

 12 ÷ 4 = 3 students/group 

 

29.  

 12 ÷ 2 = 6 pieces 



30. 

 6 × 3 = 18 blades 

 

31.  

 15 

 

32. 

 a. 18 ÷ 6 = 3 

 b. 6 ÷ 6 = 1 

 c. 30 ÷ 5 = 6 

 

33. 

 10 ÷ 3 = 3 r 1 

 4 days 

 

34. 

 12 ÷ 6 = 2 chocolates 

 

35. 

6+7=13 2+3=5 

1+9=10 4+8=12 

 Answer may vary 


